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Question Number : 1 Question Id : 7715134776 Question Type : MCQ Option Snurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dgEAD H R BT I8 ..eenn.... & fau 8

The purpose of camber in aerofoil is for

(a) YU d¢M/Increasing drag
(b) a9 9¢M/Increasing lift
(c) [dwe "eM/Decreasing lift
(d) @YU 9eH/Decreasing drag

Options:
1.a
2.b
3.¢
4.d

Question Number : 1 Question Id : 7715134776 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

IES § SR B 350 .. ........ » fau 8

The purpose of camber in aerofoil is for

(a) @YU dgM/Increasing drag
(b) a9 9¢M/Increasing lift
(c) U9 "eH/Decreasing lift
(d) @YU UcH/Decreasing drag

Options :
1.a
2.b
3.C
4.d

Question Number : 2 Question Id : 7715134777 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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o 1 7Iid B fGam g
Lift is acting in a direction
(a)
(b) HHIdYParallel
(c) faudid/Opposite
(d)

Options

1.a

2.b

3.C

4.d

d&dd/Perpendicular

Swidd H ¥ @15 "el/None of the above

ez d o S fave &

to the direction of motion of the body

GET IT ON
Google Play

Question Number : 2 Question Id : 7715134777 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
& # B &l [dw §

to the direction of motion of the body

&1 &1 i B fexn ¥

Lift is acting in a direction

Options :
1.a
2.b
3.C
4.d

) dadd/Perpendicular

)  THd/Parallel

) faudid/Opposite

) Iudad H Y dIg Tei/None of the above

Question Number : 3 Question Id : 7715134778 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

NACA 002 WS @1 Hlely
NACA 002 aerofoil thickness is

(a) 4%
(b) 1%
(c) 5%
(d) 2%
Options:

1.a
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2.b
3.C
4.d

Question Number : 3 Question Id : 7715134778 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

NACA 002 dES B JCR ...o.on.n... 8
NACA 002 aerofoil thicknessis ............

(a) 4%
(b) 1%
(c) 5%
(d 2%

Options :

1.a

2.b

3.C

4.d

Question Number : 4 Question Id : 7715134779 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

gf¢ WA-WR & &d 990 §d Tl §, al 9@ ........ T

If layers of fluids are not having frictional force between them ,then it is

) ¥/ Viscous

(a

(b) TWHdlgH/Non-viscous
(c) SHUTST/Incompressible
(d) A dB GHI/BothA & B

Options :
1.a
2.b
3.c
4.d

Question Number : 4 Question Id : 7715134779 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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g TRA-WR & §d 940 § Tol g, ol 9@ ........ &

If layers of fluids are not having frictional force between them ,then it is

(a) ¥H/Viscous
(b) TOFdRIH/Non-viscous
(c) 3HUISd/Incompressible
(d) A dB @Hi/BothA &B
Options :
1.a
2.b
3.¢C
4.d

Question Number : 5 Question Id : 7715134780 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

v & e YR & o p-A e R 2

Which is not true for an ideal expansion in a nozzle ?

(a) v&m, JspHuita YR/ Adiabatic, reversible expansion

(b) R o ud g H Rae / Drop in static temperature & Pressure

(c) 3fdeg dIUWH Td &re W fRrae / Drop in stagnation temperature & Pressure
(d) e @1 Tioe w4 uiaaq / Conversion of thrust to kinetic energy

Options :
1.a
2.b
3.C
4.d

Question Number : 5 Question Id : 7715134780 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
=TT 3 S SRR & forg - 1 T 62

Which is not true for an ideal expansion in a nozzle ?

(a) &, JepHuita R/ Adiabatic, reversible expansion

(b) R oo ud g H fRre / Drop in static temperature & Pressure

(c) e dIUWH & & | fRiae / Drop in stagnation temperature & Pressure
(d) i @1 7ioe w4 tiaaq / Conversion of thrust to kinetic energy

Options:
1.a
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2.b
3.C
4.d

Question Number : 6 Question Id : 7715134781 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AN & 1 a6 &1 91 § Seiiea g Takiy . & e o
The air resistance generated by the movement of the vehicle with speed ‘N is
proportional to .............

(a) N’
(b) 1N
€ N
(d N

Options :
1.a
2.b
3.c
4.d

Question Number : 6 Question Id : 7715134781 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TN’ & 9 T &1 91 § Scied aig Wikl ... & HIIe §

The air resistance generated by the movement of the vehicle with speed ‘N' is
proportional to .............

(a) N’
(b) 1N
(c) N
(d N

Options :
1.a
2.b
3.C
4.d

Question Number : 7 Question Id : 7715134782 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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.......... 3 FEfE 79 & e SderR # 7w AR @ S 5 S g

Tail rotor in a Helicopter is used to control

(a) UHadd/Yaw
(b) d/Roll

(c) fO=/Pitch

(d) fome/Lift

Options :

1.a

2.b

3.c

4.d

Question Number : 7 Question Id : 7715134782 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

.......... 3 FEfE o9 & e SderR H 7w AR @ S 6 S g

Tail rotor in a Helicopter is used to control

(a) UMfad/Yaw
(b) d/Roll

(c) fo=/Pitch

(d) feme/Lift

Options :

1.a

2.b

3.cC

4.d

Question Number : 8 Question Id : 7715134783 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

VG W @ W RFEe § @Ry @ SW g ... & foe i @

In shell and tube heat exchanger, baffles are mainly used to

) W & MYW B §gH/Increase the mixing of fluid

) S AR & B ggH/Increase the heat transfer area

¢) 3fsd 1631 § W @I fa@lfid #1/Deflect the flow in desired direction
) & Ydg & URGEW B B HAI/Reduce fouling of the tube surface

Options :
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1.a
2.b
3.c
4.d

Question Number : 8 Question Id : 7715134783 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

VG W @ W RFEe § @Ry @ SW g ... & foe i @

In shell and tube heat exchanger, baffles are mainly used to

(a) T & YW Bl §gH/Increase the mixing of fluid

(b) I AR &7 @I 9gH/Increase the heat transfer area

(c) 3fedd fen & W I [dafld B/ Deflect the flow in desired direction
(d) <@ a8 & URGYW @I BH &AI/Reduce fouling of the tube surface

Options :
1.a
2.b
3.cC
4.d

Question Number : 9 Question Id : 7715134784 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Yo7 foRRurficar ¥ dfig foeRoRiiaar & oFud & .......... %7 ®gl oIl §

The ratio of momentum diffusivity to thermal diffusivity is called number

(a) Wigd/Prandtl

(b) FU/Nusselt
(c) aml/Biot

(d) UY/Lewis

Options :
1.a
2.b
3.c
4.d

Question Number : 9 Question Id : 7715134784 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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G fomuficar ¥ dfig fOmoRiicd & oFud &l .......... Y@ ®el ol §

The ratio of momentum diffusivity to thermal diffusivity is called number

(a) Wigd/Prandtl

(b) gHee/Nusselt
(c) 9M/Biot

(d) <gg¥/Lewis

Options:
1.a
2.b
3.C
4.d

Question Number : 10 Question Id : 7715134785 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fgfefad o € ®H-T1 T & T @I b a g

Which is the following controls the pitch of an aircraft

(a) U/Flaps

(b) #fE/Rudder
(c) SUER®/Spoiler
(d) JdId®/Elevator

Options :
1.a
2.b
3.cC
4.d

Question Number : 10 Question Id : 7715134785 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fraffad § ¥ ®H-91 T & R @ BT &R g

Which is the following controls the pitch of an aircraft

(a) TRIU/Flaps

(b) 3REF/Rudder
(c) SMUER®/Spoiler
(d) JdId®/Elevator

Options :
1.a
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2.b
3.C
4.d

Question Number : 11 Question Id : 7715134786 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tie YRAD 5o M g 71 fadR G&id 98%, i fthiew, died e # ey Aicd &I ol ... 7
If the initial mass is M and expansion efficiency is 98%, the amount of propellant
trapped in fittings, valves efc. is

(a) 0.98M
(b) 0.02M
(c) 0.20M
(d) 20M
Options :
1.a
2.b
3.C
4.d

Question Number : 11 Question Id : 7715134786 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e WRYS SHM M g YT TeRdRY Géfar 98%, o fthfew, ded affe o Su Alch &I HEAT . &

If the initial mass is M and expansion efficiency is 98%, the amount of propellant
trapped in fittings, valves efc. is

(a) 0.98M
(b) 0.02M
(c) 0.20M
(d) 20M
Options :
1.a
2.b
3.C
4.d

Question Number : 12 Question Id : 7715134787 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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@Eﬁf%:ﬁu%m?ﬂuaﬂmw%m T e RT3 2 65 70 9§ Jedl § al G ST R0
T ... |

For laminar forced convection over a flat plate, if the free stream velocity increases by
a factor of 2 the average heat transfer coefficient

(a) T9H % §/Remains same

(b) 2 o d@ Y gedig/Decrease by 2 factor
(c) 2 & daYdedia/increase by 12 factor
(d) 49 dw@ U dedla/increase by 4 factor

Options :
1.a
2.b
3.c
4.d

Question Number : 12 Question Id : 7715134787 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TRIE ©I¢ & HR Tediid ga1d GdeH o o0, A7 T 4R1 7 2 3 010 § dod 6 df SiGa Sl 3w

UG gl

For laminar forced convection over a flat plate, if the free stream velocity increases by
a factor of 2 the average heat transfer coefficient

(a) T9H % §/Remains same

(b) 2 Hd@Ygedie/Decrease by 2 factor
(c) 2 & daYdedia/increase by 2 factor
(d) 49 dw@ U dedia/increase by 4 factor

Options :
1.a
2.b
3.cC
4.d

Question Number : 13 Question Id : 7715134788 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I Y Uil 3T & b AU

........ 50 @I o A @I MEWEdl &

engine requires forward motion through air to produce thrust

a) dR® Tg4/Internal combustion

¢) %M/Steam

(
(b) Xde/Rocket
(
(

d) Heic/Ramjet

Options :
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 13 Question Id : 7715134788 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

I ¥ YUl 307 B & U

........ IO @ 3 7T BT HAGDHdl §

engine requires forward motion through air to produce thrust

(a) MA@ &g/Internal combustion
(b) e /Rocket
(c) %MH/Steam

(d) YHeIc/Ramijet

Options :
1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134789 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Options :

) 9 amgf sf@Ra1/ Low frequency instability

) 3= G ARG/ High frequency instability

) Heg Mg R/ Medium frequency instability
) Iuddd HU Bl el / None of the above
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1.a
2.b
3.c
4.d

Question Number : 14 Question Id : 7715134789 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) 4% angfd f@RAr/ Low frequency instability

(b) Jd 3mgf 3R/ High frequency instability

(c) 7O Mgy ARRRAT/ Medium frequency instability
(d) SWFHIBE T8/ None of the above

Options:
1.a
2.b
3.C
4.d

Question Number : 15 Question Id : 7715134790 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) HItR eied 4 Figw vl § Yghat/Correlates molar flux to concentration gradient
(b) IR Wi U AT HaudiMolar flux to temperature gradient
(c) ¥ famuDiffusion with density
(d) Swad d U1 Tei/None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 15 Question Id : 7715134790 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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a) HITR efed & g vl § ggdat/Correlates molar flux to concentration gradient
)

Eb HIeR Wi Y d09H Havidl/Molar flux to temperature gradient
(c) ¥ fawuDiffusion with density
(d) 3udd ¥ U BI5 TeNone of the above

Options:

1.a

2.b

3.C

4.d

Question Number : 16 Question Id : 7715134791 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W s &1 FRRar & fog,__gharg
For the stability of a floating body, the

JIddhdl g Tocd by & WY HfcodTd Bidl 3

Centre of Buoyancy coincides with Centre of Gravity

SETadhdl b Tod B% U SR &

Centre of Buoyancy is above Centre of Gravity

o $g Saaahdl &% 4 W &

Centre of Gravity is above Centre of Buoyancy

HETE 6% o ha U FR &

Metacentre is above Centre of Gravity

Options :
1.a
2.b
3.c
4.d

Question Number : 16 Question Id : 7715134791 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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W i &1 RRaT & oy, BT g
For the stability of a floating body, the ................

JTadhl g T g b WY oI BIdl 3

Centre of Buoyancy coincides with Centre of Gravity
SETIadhdl b Tod B% U HW &

Centre of Buoyancy is above Centre of Gravity
o Bg SacTadal 9% 4 SR §

Centre of Gravity is above Centre of Buoyancy
HETd b5 7o s U FW §

Metacentre is above Centre of Gravity

Options :
1.a
2.b
3.c
4.d

Question Number : 17 Question Id : 7715134792 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

BUTED Sa-dYV Ui & qad U 119 ) ofd SR [T i g, i 0 ... &l g

A gas having negative Joule-Thomson coefficient ,when throttled, will

(a) dsiBecome cooler

(b) ™/Become warmer

(c) GHH dUHH R &l a/Remain at same temperature
(d) % §OR R 3f3d g/Depends on the type of gas

Options :
1.a
2.b
3.C
4.d

Question Number : 17 Question Id : 7715134792 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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BUTHD 0-qHY U ¥ G Uh 119 ] o SR [T i g, A g ... &l &

A gas having negative Joule-Thomson coefficient ,when throttled, will

(a) dsiBecome cooler

(b) H/Become warmer

(c) YA dIUAH R Edl a/Remain at same temperature
(d) 9% ¥ER | 1 8/Depends on the type of gas

Options:
1.a
2.b
3.C
4.d

Question Number : 18 Question Id : 7715134793 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

9 Uy T 7 O el 9 W@ e 9 & AU G gRIA I
The thermal efficiency of an air standard Brayton cycle in terms of pressure ratio yp
andy is givenby..............

{ 1
—
@
) 1
0 1,
) 1
()
(€ (1)
{ 1
(@ i- (rfp)(”f—lJf“f
Options :
1.a
2.b
3.¢C
4.d

Question Number : 18 Question Id : 7715134793 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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I SR yp U y 3 Wit O A §eT 9 @) T GeiT . gRT & o §
The thermal efficiency of an air standard Brayton cycle in terms of pressure ratio yp
andy is givenby.............

Options:
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134794 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
ferfcifed S A § foe g i gefaar 82

Which of the following configuration has the highest fin effectiveness ?

(a) el aT SfRiel 5 / Thin, closely spaced fins
(b) ueelt gl W sfarrelt {8+ / Thin, widely spaced fins
(c) e, gl w afamredt fU1 / Thick, widely spaced fins
(d) i, T sfeRret 31/ Thick, closely spaced fins

Options :
1.a
2.b
3.C
4.d

Question Number : 19 Question Id : 7715134794 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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fofed ST 9 for I i mfe 82
Which of the following configuration has the highest fin effectiveness ?

(@) wadl, T SfaRredt U= / Thin, closely spaced fins
(b) wael, &3 W afare U5 / Thin, widely spaced fins
(c) et gl W el U/ Thick, widely spaced fins
(d) I, e St U/ Thick, closely spaced fins

Options:
1.a
2.b
3.C
4.d

Question Number : 20 Question Id : 7715134795 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Sferg @1 Yad Ugel HHagd Hdaie 35H .8
The first Manned Space flight in history is .............

(a) dEi® 1/Vostok 1

(b) ¥gei® 1/Sputnik 1
(c) @it 1/Appolo 1
(d) il 1/Shenzhou 1

Options :
1.a
2.b
3.c
4.d

Question Number : 20 Question Id : 7715134795 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Sferg @1 Yad Ugel HHagd Hdaie 35H .8
The first Manned Space flight in history is .............

(a) dEi® 1/Vostok 1
(b) ¥gei® 1/Sputnik 1
(c) @it 1/Appolo 1
(d) it 1/Shenzhou 1
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Options:
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134796 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

TG AiUe G W A - s E @t F afta T o Wabd1 § - (@R e )

Modules of Rigidity G and Youngs models E can be related as : (Poisson ratio p)

E
2(1-w
E

2(1+ 1)
G

2(1-pw
G

E_2a+m

Options :
1.a
2.b
3.c
4.d

Question Number : 21 Question Id : 7715134796 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Tedl HuiD G U4 41 - Ui E @i . H Tl 511 o Wbl § © (@ U )

Modules of Rigidity G and Youngs models E can be related as : (Poisson ratio p)

E
2(1-p)
E

2(1+p)
G

2(1-w
G

E_za+m
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Options:
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134797 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

O W o PR 3 A A w8 2

Which of the following are true for a polytropic process

ﬁ =|: &} 1in
(a) Vi LP2

T_2= p_l,:|(n-1)fn
(b) T {FH

T_E:[Vﬁ—[{”'”
(c) T1 L2

(d) I FHAI of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 22 Question Id : 7715134797 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
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ki o & fog Fafifee 43 S w2

Which of the following are true for a polytropic process

ﬁ =|: ﬂ} 1in
(a) Vi LP2

e P_g}(n-ﬂfﬂ
(b) Ti [FH

T_E:M(”'”
(c) T1 LV2

(d) IuE FHAI of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 23 Question Id : 7715134798 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

31 AF! &1 THH TEd gU Hdie® YR ¥ Iwiied 36§90 Hofer S & aRR M &l 141, 92
Ui SerT o g, Al a8y . & 9ed H G gl

If the wire diameter of a closed coil helical spring subjected to compressive load is

increased from 1cm to 2cm, other parameters remaining same, the deflection will
decrease by afactorof .............
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Question Number : 23 Question Id : 7715134798 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 A BI GHF TG §U UTs® YR § J@lied Ul §9d Gefer HAM & a o o 19 4 62
U G S g, dfeeu & ged S|

If the wire diameter of a closed coil helical spring subjected to compressive load is

increased from 1cm to 2cm, other parameters remaining same, the deflection will
decrease by afactorof.............

Question Number : 24 Question Id : 7715134799 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FofaRad 4 HH-d 319 Rufd of sis- &1 uihar g2

Which of the following is a solid state joining process?

(a) 19 ETReA i des/Gas tungsten arc welding
(b) uftRlY fdg desA/Resistance spot welding

(c) 9 deE/Friction welding

(d) % 3 dee/Submerged arc welding

Options :
1.a
2.b
3.C
4.d

Question Number : 24 Question Id : 7715134799 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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Fofafed 9 SH-dt 3iv fufa ot s+ &l ufpar g2

Which of the following is a solid state joining process?

(a) 19 ETReA ofidh des/Gas tungsten arc welding
(b) Wiy fdg de=1/Resistance spot welding

(c) =Hurdee/Friction welding

(d) % 31 dee+/Submerged arc welding

Options:
1.a
2.b
3.C
4.d

Question Number : 25 Question Id : 7715134800 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

qlg-B1e ARG T4 A D1 & 31 Uik fopun g

The iron-carbon diagram and TTT are determined under ...............

(a) @A YR T o fUfd/Equilibrium and non-equilibrium condition respectively
(b) ®HE: 3 Ud 9y fRufd/Non-equilibrium and equilibrium condition respectively
(c) @i o ferw g Rfd /Equilibrium condition for both
(d) &Ml @ fo s Rifd/Non-equilibrium condition for both

Options :

1.a

2.b

3.c

4.d

Question Number : 25 Question Id : 7715134800 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

olg-BTe ARG W AAA DI o il uRkeiia fopmn mrn ©

The iron-carbon diagram and TTT are determined under ...............

(a) A T UG g RUFVEquilibrium and non-equilibrium condition respectively
(b) s 3 Td 9y ffd/Non-equilibrium and equilibrium condition respectively
(c) &Ml fou W Rt /Equilibrium condition for both

(d) &Ml @ fow R Rfd/Non-equilibrium condition for both

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 26 Question Id : 7715134801 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

mnmgﬁﬁaﬁ@ﬁ%mmmm@aﬂ#wﬁwwm’awwﬂﬁw

Similarity parameter which normalizes the convective wall heat transfer by the
external flow enthalpy flux based on conditions at the wall is

(a) U GBINusselt number

(b) iga §=/Prandtl number

(c) ¥eddaStanton number

(d) Hie YBReynolds numbers
Options:

1.a

2.b

3.c

4.d

Question Number : 26 Question Id : 7715134801 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185
w%mqﬂgaﬁaﬂ@ﬁr%mmquﬂ?w%ﬁwwm’awwaﬁw
G S

Similarity parameter which normalizes the convective wall heat transfer by the
external flow enthalpy flux based on conditions at the wall is

(a) ~g¥c g@INusselt number
(b) wigd ¥=A/Prandtl number

(c) WeIgE/Stanton number
(d) I g=/Reynolds numbers

Options :
1.a
2.b
3.C
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 27 Question Id : 7715134802 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faqge fagel 7= (EDM)  sieR . ¥ fAfifa s

In Electro-discharge machining (EDM) the tool is made of

(a) dilCopper
(b) ¥ gE@/High speed steel
(c) eudidiElCast iron
(d) wH®EA gE/Plain carbon steel
Options :
1.a
2.b
3.C
4.d

Question Number : 27 Question Id : 7715134802 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

faqge fagel 7= (EDM)  sieR . ¥ fAfifa s

In Electro-discharge machining (EDM) the tool is made of

(a) dilCopper

(b) ¥ gE@/High speed steel
(c) eudidiElCast iron

(d) wH®EA Z9E/Plain carbon steel

Options :
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134803 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

{5, o 1 TARI&0T & d foft W i S g o 8

The most common limit gauge used for inspecting the hole diameter is

(a) w@ITUHMYPlug gauge
(b) AR yHU/Master gauge
(c) "uwE/Snap gauge
(d) fEuEIRIng gauge


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Options:
1.a
2.b
3.c
4.d

Question Number : 28 Question Id : 7715134803 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

{55 ST &1 FAR18T0 S o FeT0 Wt Sl A= e o .8

The most common limit gauge used for inspecting the hole diameter is

(a) @ yHM/Plug gauge
(b) AR YHU/Master gauge
(c) HuwE/Snap gauge
(d) f@uAdRIng gauge
Options :
1.a
2.b
3.c
4.d

Question Number : 29 Question Id : 7715134804 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ST 3ificid TeTd @ Siblg/Across a standing normal shock, the
dIYH-/ Temperature

HIeadl qld/Stagnation Pressure

am/Velocity

Yid/Density

(a) ¥M, g gfe s™Decrease, Increase, Increase, Decrease
(b) df<, 39, 39, df</Increase, Decrease, Decrease, Increase
(c) TR RR g™, i</Constant, Constant, Decrease, Increase

(d) SWa H YIS FEINone of the above

Options :
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 29 Question Id : 7715134804 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SIRTI Sficid TeTd @ Sibib/Across a standing normal shock, the
dIqHH/Temperature

Hdeadl qld/Stagnation Pressure

amVelocity

Td/Density

) B, gfg, 9f<, F/Decrease, Increase, Increase, Decrease
) g, 39, 39, gfd/Increase, Decrease, Decrease, Increase

c) f@R, R ¥¥, gfe/Constant, Constant, Decrease, Increase
)

3ugdd ¥ ¥ @5 Fel/None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 30 Question Id : 7715134805 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

0P M g 30 A wer, 122 . g1 7u1 20 0 da1 81 Tk werd @t fbfewd ived v aw

28.3 MPavm & tu1 65 fiat. dift dhsfir orgorey 35 8, ot el faweran & fore o wide fean
g

An aircraft fuselage is 30 mm thick 122 m wide and 20 m long. If the critical stress

intensity factor of the material is 28.3 MPavm and if a 65 mm long central transverse
crack is present, what will be the tensile stress for catastrophic failure?

@ =2
V21 x 65

(b) 283x V2T x65

283

€ resr
(d) 28.3x Vx5

Options :
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 30 Question Id : 7715134805 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

o g gt 30 s e 122 4 e 20 # ar 21 9 v @ e Whvea dhad

28.3 MPavm 3 7u1 65 f . it dhsfi ooy 3 3, ot faureh faperan & forw & wioet feben
g

An aircraft fuselage is 30 mm thick 122 m wide and 20 m long. If the critical stress
intensity factor of the material is 28.3 MPay'm and if a 65 mm long central transverse
crack is present, what will be the tensile stress for catastrophic failure?

@ =2
V2m x 65

(b) 283x2mx65

283

©) ez
(d) 28.3x Vrx 65

Options :
1.a
2.b
3.cC
4.d

Question Number : 31 Question Id : 7715134806 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T H U TR oy T8  ER1 TgdH o 9ad 27
Temperature embrittlement in material can be determined by which test?

(a) = TUHM W &H W&/ Tensile test at high temperature
(b) PIUTIE/ Creep test

(c) 9 AHM W HYg W&/ Impact test at high temperature
(d) oI e/ Hardness test


https://applink.adda247.com/d/XhqWf9lSap
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Options:
1.a
2.b
3.c
4.d

Question Number : 31 Question Id : 7715134806 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g H AIOHM SR b TIE o GRI Ug I off ahell o2
Temperature embrittlement in material can be determined by which test?

(a) O UMM W& TEm/ Tensile test at high temperature
(b) PIUTIE/ Creep test

(c) 9 AIHM W HYg W&/ Impact test at high temperature
(d) PoRd Figm/ Hardness test

Options :

1.a

2.b

3.C

4.d

Question Number : 32 Question Id : 7715134807 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

11 vo Ud ve AL I3H T T4 FiH ofe 1 i &, Udbe @1 e Gaidl 71 57
If vo and ve are the flight speed and speed of exit jet respectively, what is the
propulsive efficiency of a rocket?

vo
(a) i
1+ (vo/ve)?

ve
(b 2{ - 2]
1+ (5o)
2(ve/vo)
1+ (ve/vo)?

[
g
ve

Options :

1.a
2.b
3.c
4.d

Question Number : 32 Question Id : 7715134807 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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11 vo Ud ve AL I3H T T4 FiH ofe 1 i &, Udbe @1 e Gaidl 71 57
If vo and ve are the flight speed and speed of exit jet respectively, what is the
propulsive efficiency of a rocket?

260)

1+ (vo/ve)?

ve
(b 2{ - 2]
1+ (5o)
2(ve/vo)
1+ (ve/vo)?

[
g
ve

Options :

(a)

(c)

1.a
2.b
3.c
4.d

Question Number : 33 Question Id : 7715134808 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

PP 5ol o H FHfafed 9 o9 Hel 07

Which of the following is true in Kronecker delta function

(a) & U= Ui

(b) jis isotropic tensor

(c) ik Exm = &il djm - Simdy

(d) Swda w4i/All of the above

Options :
1.a
2.b
3.c
4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 33 Question Id : 7715134808 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SHP Seel 1Y H Ffafed § 9 o9 wel 27

Which of the following is true in Kronecker delta function

(a) 31; UJ‘: Ui
(b) &j is isotropic tensor
(c) ik Exm = &l Ojm - dimGy
(d) Iwa wf/All of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134809 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

FafEd & @ -9 A i el 87

Which one of the following is not a mono-propellant?

(a) ZEITHT/ UDMH (3rmfird Sfumsd egrei/Unsymmetrical dimethyl hydrazine)
(b) ®TEgISH WSS / Hydrogen peroxide
(c) Ui 3fiss / Ethylene oxide
(d) eI HY / Nytro methane
Options :
1.a
2.b
3.c
4.d

Question Number : 34 Question Id : 7715134809 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal24

7

et H O SH-81 AF ied T8l &7

Which one of the following is not a mono-propellant?

) SITATE / UDMH (3w Sefimse sgmi/Unsymmetrical dimethyl hydrazine)
) GRSl IR / Hydrogen peroxide

¢) Ui 3fiwrgs / Ethylene oxide
) el #id/ Nytro methane

a
b

(
(
(
(d
Options:
1.a
2.b
3.c

4.d

GET IT ON
Google Play

Question Number : 35 Question Id : 7715134810 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
31T febs; e H Ffaied O o H-91 e 9HoH 82

Which of the following is interference fit in the basis hole system?

(a) H7/h6
(b) H7/p6
(c) H7/g6
(d) H7/k6
Options :
1.a
2.b
3.C
4.d

Question Number : 35 Question Id : 7715134810 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
3Tl feos: e & Ffied o O ©H-91 e 9HsH 2

Which of the following is interference fit in the basis hole system?

(a) H7/h6
(b) H7/p6
(c) HTIg6
(d) H7/k6

Options :
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 36 Question Id : 7715134811 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

afaEd A 8 & 1-91 Yt 0 Wiga e SR A e gl 57

Which of the following correction factor is used in Prandtl Glanert transformation?

Cpo
d4) i ——
) 05 e
s Cpo
o e,

—
2 141-M2

Cpo
c) Cp= ——
(c) Cp N

(d) Iwe H A HIS T2/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 36 Question Id : 7715134811 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal247

PR A 3 .7 S 10 T S TR e e 2

Which of the following correction factor is used in Prandtl Glanert transformation?

Cpo
a Cp= ———
(a) Cp o

C Cpo
P= Z
(b) P LI
2 "141-M2
Cpo
c) Cp= ——
&) Cp= omrs
(d) Swiddd Y @r 76l / None of the above
Options:
1.a
2.b
3.c
4.d

Question Number : 37 Question Id : 7715134812 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

oY o g RifeisR d 7 3fidRe gd P & HRU did &1 Hiers ‘t & SR Y9H 0 Y fadkd reed

wiowa g

In a closed cylinder of diameter d, the longitudinal stress distributed uniformly over the
wall thickness ‘t' due to internal pressure Pis ............

(@) Pd
2t
(b) Pd
4t
(c) Pd
8t
(d) SwaE Y @5 Tel/ None of the above
Options :
1.a
2.b

3.cC


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 37 Question Id : 7715134812 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

awﬁqaﬁiﬁag‘ d H HfaRd 26 P & SRV i &1 KRk t & SR YHH ¥ 4 faaRkd e

Ufded

In a closed cylinder of diameter d, the longitudinal stress distributed uniformly over the
wall thickness ‘t' due to internal pressure Pis ............

(@) Pd
2t

(b) Pd
4t

(c) Pd
8t

(d) S HY DS TE/ None of the above

Options :

1.a

2.b

3.c

4.d

Question Number : 38 Question Id : 7715134813 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

aﬂﬁ?gmmﬁma%ﬁmmﬁmﬁﬁﬁaﬂmmﬁimwm%mua@ﬁﬂf
__________ |

Wave length corresponding to the maximum value of monochromatic emissive power
as per Wein's displacement law is ............

(a) )-.max oT

(b)  Amax = Constant

1
) Amax O ;

(d) Swead ¥ @3 Tel/ None of the above

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 38 Question Id : 7715134813 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

m%gﬁﬂmﬁmaﬁwmﬁmjmmﬁimwm%mua@ﬁﬂf
__________ |

Wave length corresponding to the maximum value of monochromatic emissive power
as per Wein's displacement law is ............

(a) )-.max oT

(b)  Amax = Constant

1
) Amax O ;

(d) Swead ¥ @3 Tel/ None of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 39 Question Id : 7715134814 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g & H yftrcran @R ud uieaRn & gay A Feffa A Y e ar a7

Which of the following is true in vorticity and circulation in flow field?

(@) o=Vxu
(b) V.o=0

d
) o= ik di;::

(d)  Iwfad @/ Al of the above


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

Options:

1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 39 Question Id : 7715134814 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

1T & H yftrar @) ud uReern & gay A Pl d Y e-a a7

Which of the following is true in vorticity and circulation in flow field?

(@) 0=Vxu

) V.o=0
d

) 0= Sijkdl;

(d) Iude T/ All of the above

Options:
1.a
2.b
3.c
4.d

Question Number : 40 Question Id : 7715134815 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

3 TR Hied &1 82

What is underexpanded nozzle ?

(a) THEE > a’ e/ Exit pressure > External pressure
(b) TiHEE < IS / Exit pressure < External pressure
(c) fim e agadeIg/ Exit areais very large

(d)

W& § Y @l ! / None of the above
Options :
1.a
2.b

3.cC


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 40 Question Id : 7715134815 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

39 TN Aivd & 82

What is underexpanded nozzle ?

(a) TmeE > a e/ Exit pressure > External pressure
(b) THEE < a &/ Exit pressure < External pressure
(c) 9 &asgddeIg/ Exitareais very large

(d)

W& § Y Bl 1/ None of the above
Options:
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134816 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Fgfifed A 4 Xdbe o 5oaHM 3T (MR) Td i SoaHM YIS, ¢ & did H BH-81 Tg1 57 My JuH
5o T Mo YRId 5o0MH g

Which of the following is true between mass ratio (MR) and propellant mass fraction,
C of a rocket. Ms s first mass & Mo initial mass.

(a) ¢=1MR
(b) MR=MiMo

£= Mo-Ms

(c) Mo

(d) Iudad @it/ All of the above

Options :
1.a
2.b
3.c
4.d

Question Number : 41 Question Id : 7715134816 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185

frrafeiiaa H 9 dhe B FAM U (MR) T AIG® 5o YHIG, & @ i | HIH-01 981 52 My U

$oHH 1d Mo URF® 5aMH g

Which of the following is true between mass ratio (MR) and propellant mass fraction,

¢ of a rocket. My is first mass & Mo initial mass.

(a) ¢=1-MR
(b) MR=MiMo
£= Mo-Ms

(c) Mo

(d) 3Iwdad @/ All of the above
Options :
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 42 Question Id : 7715134817 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a)  SHUETY & TR WM ¥ WM BH Gl &
Viscosity decreases with continuous application of shear
(b)  SHUETY & TR WM ¥ WS¢l o
Viscosity increases with continuous application of shear
(c) T &R Tl 8/Viscosity remains constant
(d) 3udd & T Br5 Tg/None of the above
Options :
1.a
2.b
3.C

4.d


https://applink.adda247.com/d/XhqWf9lSap
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Question Number : 42 Question Id : 7715134817 Question Type : MCQ Option >nurriing : NO
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) STV P IR WANT Y WU A gl @
Viscosity decreases with continuous application of shear

(b) STV S TGR WM 9§ T gl 3
Viscosity increases with continuous application of shear

(c) =l f&R Tl 8/Viscosity remains constant

(d) SwaF 3L TENone of the above

Options :
1.a
2.b
3.cC
4.d

Question Number : 43 Question Id : 7715134818 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

Ffafed 3 § ©1H-91 se i Yo 82

Which of the following is the Helmholiz function?

(a) h-Ts
(b) U-Ts
() U+PV
(d) Swfad H ¥ 3I5 78T/ None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 43 Question Id : 7715134818 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

Fafeid 5 9§ &M gegied Yo/ o2
Which of the following is the Helmholtz function?

(a) h-Ts
(b) U-Ts
(c) U+PV
(d) Sudd ¥ UL Tel/ None of the above
Options :
1.a
2.b
3.c
4.d

Question Number : 44 Question Id : 7715134819 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T fserg @1 AABXXX Al Y dfi

AABXXX series of aluminium alloys belong to ............

(a) Al-Cu system
(b) Al-Cu-Mg system
(c) Al-Mg-Sisystem
(d) Al-Zn-Mg system
Options :

1.a

2.b

3.c

4.d

Question Number : 44 Question Id : 7715134819 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T frgerg o1 AABXXX ATl ERGIERES

AABXXX series of aluminium alloys belong to ............

(a) Al-Cu system

(b) Al-Cu-Mg system

(c) Al-Mg-Sisystem

(d) Al-Zn-Mg system
Options :

1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 45 Question Id : 7715134820 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

W@ﬂﬂﬂﬂﬂ%ﬁmﬁﬁﬁﬂ}ﬁwﬁmﬁ@mwﬁﬁﬁﬂﬁﬂmﬁ$ﬁum

Transformation used to map a circle into an aerofoil like shape and determine it
properties is ..............

(a) =iy fae@ / Blasius solution

(b) 3TEUd T/ Conformal transformation
(c)

(d)

Joi! TR/ Zhukhovsky transformation
Terfc Gfade / Galerkin approximation

Options :
1.a
2.b

3.¢C
4.d

Question Number : 45 Question Id : 7715134820 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

@qaaﬂmgua;mﬂuﬁsa}%wﬁw&ﬁaam@wﬁiwﬁﬁﬁﬂﬁam$%um

Transformation used to map a circle into an aerofoil like shape and determine it
properties is ..............

(a) wYgd fae@ / Blasius solution
(b) 3w TUi@/ Conformal transformation
(c) W@ ®uidu/ Zhukhovsky transformation
(d) TeRie Wiawed / Galerkin approximation
Options :
1.a
2.b
3.¢
4.d

Question Number : 46 Question Id : 7715134821 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0.33000001311302185
TG ‘e’ el fagpfe v € qurd fagf & o Fafofed 4 9 ol wel 2

Which of the following is true if ‘e is engineering strain & ‘€’ is true strain

Options :
1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 46 Question Id : 7715134821 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185
Tt ‘e’ Fulial ool wd €' qurd famfa § i fafcfed 4 4 ol 93l 37

Which of the following is true if ‘e’ is engineering strain & ‘€’ is true strain

£=In(e-1)

e+E=1

SWdd 4 ¥ 315 751 / None of the above

Options :
1.a
2.b
3.C
4.d

(a)
(b) €=In(e+1)
(c)
(d)

Question Number : 47 Question Id : 7715134822 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) L2T
(b) L2T
(c) MLT
(d)

Options :

Suwad § A oI5 ol / None of the above


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 47 Question Id : 7715134822 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) L2T

(b) L2T

() MLT

(d) Swad ¥ Y @I TEl/ None of the above
Options :

1.a

2.b

3.c

4.d

Question Number : 48 Question Id : 7715134823 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

YR P, 5 & o D T4 eRal oI d & %1 H o Saiva 98 (dTae) 5
Brinell hardness numbers (BHN) is expressed in terms of load P, diameter of ball D
& diameter of indentationsd as ..............

p
@) @y +Vpr=a

F
N

P
e (%(D +D2+d?)

(d) Iwdd HY@ls T8None of the above

Options :
1.a


https://applink.adda247.com/d/XhqWf9lSap
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2.b
3.C
4.d

Question Number : 48 Question Id : 7715134823 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

R P, st & or D U Sqa oI d & o g oiear v (e ot A eeia o g
Brinell hardness numbers (BHN) is expressed in terms of load P, diameter of ball D
& diameter of indentationsd as ..............

P
@ Do+

P
O &o-wr-a

P
O o+ 0T+ )
3Ud H ¥ Bls Fai/None of the above
Options:
1.a
2.b
3.¢C
4.d

Question Number : 49 Question Id : 7715134824 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

dI0HH & dg- & 91y, 19 3l A aaedl § gl 8

As the temperature increases ,the thermal conductivity of a gas

(a) &/ Increases
(b) =@/ Decreases

(c) MRI;EAE/Remains constant

(d) TP FiYd ATHH 7 el & 7ul R &4 51 ol 8
Increases up to a certain temperature and then decreases
Options :
1.a
2.b
3.c
4.d

Question Number : 49 Question Id : 7715134824 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

dI0HH & dg- & 91y, 19 &l A aaedl § gl 8

As the temperature increases ,the thermal conductivity of a gas

(a) &/ Increases
(b) =@/ Decreases

(c) MRI;EAE/Remains constant

(d) TP FiYd ATHH 7 el & 7ul R &4 51 ol 8
Increases up to a certain temperature and then decreases
Options :
1.a
2.b
3.c
4.d

Question Number : 50 Question Id : 7715134825 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

(a) 3/ Fuel

(b) u®/Binder

(c) eiiwiHRS / Oxidiser
(d) 33R®/ Catalyst
Options:

1.a

2.b

3.C

4.d

Question Number : 50 Question Id : 7715134825 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) S/ Fuel

(b) §¥®/Binder

(c) 3HiFfiERS / Oxidiser
(d) 33R®/ Catalyst
Options :

1.a

2.b

3.C

4.d

Question Number : 51 Question Id : 7715134826 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U SR 1 Uall o & o SIH-Y TSIE ddrich &l ST ool rel 82
Which NDT technique is used for detecting surface discontinuity?

) fafau feew wten / Radiography testing

) TRI4e 9 §F We / Ultrasonic normal beam testing
c) Y@ YRITI§/ Eddy current testing

) S I TI&m / Acoustic emission testing

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 51 Question Id : 7715134826 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

U 31 &1 Ul T & (U HH-Y THSIC] debriich @1 SUaNT ol Wil €7

Which NDT technique is used for detecting surface discontinuity?

(a) fafesor fepm wiem / Radiography testing
(b) TRl WA § witem/ Ultrasonic normal beam testing
(c) a¥ eRTudiem/ Eddy current testing
(d) @@ Jui T8/ Acoustic emission testing
Options :
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134827 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T% QA de Wle .8
An integral rocket ramjetis ..............

(a) TRAY%EIHe / Non-air breathing rocket
(b) dgEaHdTHe/ Air augmented rocket
(c) fdyd e wumRdt/ Electric propulsion  system
(d) Swded H ¥ FHE T/ None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 52 Question Id : 7715134827 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

(a) TRAY 4w AHe / Non-air breathing rocket
(b) dgHaHdHe/Air augmented rocket
(c) fdgyd e wumedt/ Electric propulsion  system
(d) Suda #YPIS Tl / None of the above
Options :
1.a
2.b
3.C
4.d

Question Number : 53 Question Id : 7715134828 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

ST I Ao TUIGD ....... 1 Ay 31T T 3R 9 &

Electron-ion propulsion thrusters can achieve a specific impulse of

(a) 3000s
(b) 300s
(c) 30s

(d) 3s

Options :

1.a

2.b

3.C

4.d

Question Number : 53 Question Id : 7715134828 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

SeTeI I Ao JUIGD ....... 1 Ay 31T T 3R §ad &

Electron-ion propulsion thrusters can achieve a specific impulse of

(a) 3000s
(b) 300s
(c) 30s
(d) 3s

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

Question Number : 54 Question Id : 7715134829 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) AUy fowRuricdl ¥ Feunr fawRurEiica/ Thermal diffusivity to mass diffusivity

(b)  TSIAH! ST H UG R 0k /
Kinematic viscosity to molecular diffusion coefficient

(c) 7w SarTaT ¥ g fqWRuriiadr / Dynamic viscosity to mass diffusivity
(d) ST HYBE Tel/ None of the above

Options :
1.a
2.b
3.C
4.d

Question Number : 54 Question Id : 7715134829 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

(a) AUl foRRURTcdr ¥ SerHH femuriic / Thermal diffusivity to mass diffusivity

(b) YS! T ¥ 3MUae [HRI orich /
Kinematic viscosity to molecular diffusion coefficient

(c) e SaraT ¥ soumH fawRuriiadr / Dynamic viscosity to mass diffusivity
(d) ST HYPE Tel/ None of the above

Options :
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 55 Question Id : 7715134830 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

AT Eile] 749 IRl § WY fagga e .3

Electrical systems used in flammable gas environment are .............
a) Yad: QEd f&en / Intrinsically safe system

b) fqpleds w f%ed / Explosion proof system

¢) adbal/Bothad b

d) SWdd § ¥ @5 761 / None of the above

Options :

(
(
(
(

1.a
2.b
3.c
4.d

Question Number : 55 Question Id : 7715134830 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

waeTEiiel 79 IRl § WY fagga yonfei .. §

Electrical systems used in flammable gas environmentare .............
a) Wa: & {5 |/ Intrinsically safe system

b) fqepies yw fwen / Explosion proof system

¢) adbal/Bothad b

d) JWdd # ¥ @l el / None of the above

Options :

(
(
(
(

1.a
2.b
3.c
4.d

Question Number : 56 Question Id : 7715134831 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

gﬁ?%%%s@%mﬂﬁﬁﬂmwwﬁimﬂmﬁawﬂiﬂmﬁ ________

The ratio of the mass of air passing outside the cone of a turbo fan engine to the
mass flow through the cone is called ..........

35U 31 / Bypass ratio

(a)
) e &l / Propulsive efficiency
)
)

(b
(c
(d

fer8ror 3T / Mixture ratio

a1 ¥ q&dl / Air conversion efficiencies
Options :

1.a

2.b

3.¢C
4.d

Question Number : 56 Question Id : 7715134831 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

g@%%mﬂﬁm@ﬁwﬂwwﬁﬁ%ﬂmﬁaw%waﬁ ________

The ratio of the mass of air passing outside the cone of a turbo fan engine to the
mass flow through the cone is called ..........

@50 301 / Bypass ratio
Aie g&fal / Propulsive efficiency

R8O 3T / Mixture: ratio
a1 Ui qédl/ Air conversion efficiencies

(a)
(b)
(c)
(d)
Options :
1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134832 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

T, @& hg, 7Yl gl B T Bt T U1 U G o Sf18-UTE T Wil §, ol (dhe BT

If the centre of pressure and centre of mass are located in the same place or very
near to each other, then the rocket will be ........

a) SsHHRE/ Stable in flight
b)  IeHT 3T / Unstable in flight
)
)

c) WEdWaN udaTe/ No effect on stability

Sudad 4 4 3 el / None of the above

Options:

(
(
(
(d

1.a
2.b
3.C
4.d

Question Number : 57 Question Id : 7715134832 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

e, &1 g 71 Weld 5 T 51 g 1 T Ga  36.UT6 T ol 3, dl Ube . 51T

If the centre of pressure and centre of mass are located in the same place or very
near to each other, then the rocket will be ........

ISH H R/ Stable in flight

35 # arrs / Unstable in flight

RIEd W i3 141d a1/ No effect on stability
J0ad ¥ U Bl el / None of the above

Options :

a
b
c

(
(
(
(d

)
)
)
)

1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134833 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

T e 9% Bl 9 50°C T 350°C & e WRfera gl 31 STt Gefdl N T N &, Frufofa
0 Y SH-41 981 52

A Sterling cycle and a Camot cycle operate between 50°C and 3350°C. Their
efficiencies are Ns and ¢, which of the following is true?

(@ Ms>MNe
(b) Ms=MNc
(€) Ms<Me
(d) @MHR RA R 3MdDepending on the working fluids
Options :
1.a
2.b
3.c
4.d

Question Number : 58 Question Id : 7715134833 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

T e 9% qu & 9 50°C Td 350°C & e Tanferd gl 21 390 ga Ns W@ N8, Fefféa
1 U DH-T1 95l 52

A Sterling cycle and a Carnot cycle operate between 50°C and 350°C. Their
efficiencies are INs and ¢ , which of the following is true?

(@) MNs>Ne
(b) MNs=Ne
(¢) MNs<Ne
(d) ®RSR Rd W 3fid/Depending on the working fluids
Options :
1.a
2.b
3.c
4.d

Question Number : 59 Question Id : 7715134834 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap
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ASTH-wifeH & WaIoH U & H-41 A1 dgd 39 §d1 27

Which thermocouple is made of Rhodium-Platinum Combination?

(a) KUSR/type
(b) JUIR/type
(c) NUDBR/type
(d) SUBR/type
Options:

1.a

2.b

3.c

4.d

GET IT ON
Google Play

Question Number : 59 Question Id : 7715134834 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185

AT STH e o YAl Y D91 10 dgqd 3 &l 87

Which thermocouple is made of Rhodium-Platinum Combination?

(a) KUaR/type
(b) JUPR/type
(c) NUBR/type
(d) SUBR/type
Options :

1.a

2.b

3.C

4.d

Question Number : 60 Question Id : 7715134835 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0.33000001311302185


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

o amenfed fiwed & fou AFEs

Criteria for fracture based design

@) Zic g 29
ay

(b) Kicyq 99
ay

(€)  ovma>Ki

(d) ZTHYDE TENone of these

Options:
1.a
2.b
3.c
4.d

Question Number : 60 Question Id : 7715134835 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0.33000001311302185

fau smenfed Sfieed & fou AFcs

Criteria for fracture based design

(@) K¢ 499
ay

(b)  Kicy 499
ay

(€)  ovma >Kic
(d) FH IR Te/None of these

Options :
1.a
2.b
3.C
4.d

Aptitude Test


https://applink.adda247.com/d/XhqWf9lSap
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Partl

Question Number : 61 Question Id : 7715134836 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2417
T8 OH-U1 Ufda 5, 91 U4 g @l viawafi same
What is the image which will replace the question mark?
00 O
O O a g
0 |[oo | ° |000|ooo
@@ |[J
Uoo
O
o) |0
a o
O
© O
oo
i
o 000
Options :
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 61 Question Id : 7715134836 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0
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Addal2417
T8 OH-U1 Ufda 5, 91 U4 g @l viawafi same
What is the image which will replace the question mark?
00 O
O O a g
0 |[oo | ° |000|ooo
@@ |[J
Uoo
O
o) |0
a o
O
© O
oo
i
o 000
Options :
1.a
2.b
3.C
4.d

GET IT ON
Google Play

Question Number : 62 Question Id : 7715134837 Question Type : MCQ Option Shuffling : No

Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

@41 feA faw| §/Which figure is odd one out?

AOD+:E§1
n+z[§1[jo
¢|m D30+
Dz@m ¢ o

(@ A
(b) B
() C
(d D
Options
1.a
2.b
3.C
4.d

Question Number : 62 Question Id : 7715134837 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal@7

@41 feA faw| §/Which figure is odd one out?

Al e O + :@E]
B + z@m 0 e
¢| N D@z ® +
D z@m I =
@ A

(b) B

(c) C

(d) D

Options

1.a

2.b

3.C

4.d

Question Number : 63 Question Id : 7715134838 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

AUGUST Teg Bl JaH =y WP ¥ hdd DI-diel Vs IHE:

Choose the word which best expresses the meaning of the word, AUGUST

(a) Common
(b) Ridiculous
(c) Dignified
(d) Petty
Options :

1.a

2.b

3.¢C

4.d

Question Number : 63 Question Id : 7715134838 Question Type : MCQ Option Shuffling : No


https://applink.adda247.com/d/XhqWf9lSap
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Correct Marks : 1 Wrong Marks : 0

AUGUST Te3 Bl Jad 3w TP ¥ oUdd dH-ael Wsa gHE

Choose the word which best expresses the meaning of the word, AUGUST

(a) Common
(b) Ridiculous
(c) Dignified
(d) Petty

Options :
1.a
2.b
3.c
4.d

Question Number : 64 Question Id : 7715134839 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

R FAdeepar 43 §, d Iudd &Y &I 999 B

If Myopia: Eye, select the suitable statement

(a) W6 TMY : AHHEE/ Gastritis : Stomach
(b) 3MOiET : ﬂﬁf[)ialysis : Kidney
(c) dEAPI-DIRST : ARTSH/Neuron : Brain
(d) %T9 : WWHSI/Respiration: Lung

Options :
1.a
2.b
3.C
4.d

Question Number : 64 Question Id : 7715134839 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

R FweePar a7 8§, d Iugdd HYT &1 994 B

If Myopia: Eye, select the suitable statement

(a) ©I3X HY : MHEA/ Gastritis : Stomach
(b) 3fUigd : T[GI/Dialysis : Kidney
(c) dE@I-PIfA@T : AT/ Neuron @ Brain
(d) #¥F : WHSI/Respiration: Lung

Options :


https://applink.adda247.com/d/XhqWf9lSap
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1.a
2.b
3.c
4.d

GET IT ON
Google Play

Question Number : 65 Question Id : 7715134840 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Ui ol § d9H ®IG Yo'l & MG B WUEE BRU, A0 W oH @ W
OUEs el ol HAUD! & HYE B WYHS SRV I8 & i 86 & 11 a6 § JAUD &
o uRffqal ¥ @i QUR T8l g3l & aUl 39D ddd, o UMR P ddd ¥ Y gel
el g1 fofifad 4 ¥ oF-w oy, ofc Ge 8 d, SWE odl & 99y Wel gudq
Bl §?

Toughened hiring standards have not been the primary cause of the present staffing shortage in
public schools. The shortage of teachers is primarily caused by the fact that in 11 recent years
teachers have not experienced any improvements in working conditions and their salaries have

not kept pace with salaries in other professions. Which of the following, if true, would most
support the claims above?

(a)

(b)

(c)

(d)

B W o & U AIUGS & 9ad, 39@ A4H, TN H Ugd 4 9ufd &y s

& TG DI YU P 3

Many teachers already in the profession would not have been hired under the new hiring

standards.

Ugd & Plad Hodd, WIER HAUD SR RIEd & ¥ 3d 8l

Today more teachers are entering the profession with a higher educational level than in

the past.

P9 US4 B0 § T 3 IER AGs! B qT9H ©Ib ol & HYE Il

PR Sl 3|

Some teachers have cited higher standards for hiring as a reason for the current staffing

shortage.

%a‘éa{mmﬁﬁmaﬂ?wmﬁmﬁﬁﬁmﬁmaﬁﬂﬂn 381 T BRU Fal
I

Many teachers have cited low pay and lack of professional freedom as reasons for their

leaving the profession

Options:

1.a
2.b
3.c
4.d

Question Number : 65 Question Id : 7715134840 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2417

Ui Wl § daiH ®I Yo'l & MG & WuhE BRU, el W oH @ W
TS T8l 81 AEUH & UG & WUte IR U8 § 6 g & 11 9 § yEmel &
o TR A B QR T g 2 a0 I 3, oF R & 3 Q@ ag
ol 31 FEfiied & § oH-w oy, 3 98 gl dl, SWE ol @ §9d Wl g
ol &7

Toughened hiring standards have not been the primary cause of the present staffing shortage in
public schools. The shortage of teachers is primarily caused by the fact that in 11 recent years
teachers have not experienced any improvements in working conditions and their salaries have

not kept pace with salaries in other professions. Which of the following, if true, would most
support the claims above?

(a)

(b)

(c)

(d)

THd W o & 70 AGS! & 9ad, 390 A9H, U F U § 90 &3 JEue!

& TG B YT T 2

Many teachers already in the profession would not have been hired under the new hiring

standards.

Ued & HEd Hadd, R AHUD Jar Ried & ¥ 31d

Today more teachers are entering the profession with a higher educational level than in

the past.

P9 US4 THA § T B IR AGs! B qHH ©Ib Gl & HHE Bl

RO Gl 3|

Some teachers have cited higher standards for hiring as a reason for the current staffing

shortage.

%ﬁa{mmﬁﬂméaqumﬁmmﬂaﬁmaﬁmﬁsﬁ%wm
I

Many teachers have cited low pay and lack of professional freedom as reasons for their

leaving the profession

Options :

1.a
2.b
3.¢C
4.d

GET IT ON
Google Play

Question Number : 66 Question Id : 7715134841 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal2i7

50 @ o ¥ 40 @ fdhdl & ®U 4 &M X & & IR AR ool T 3
QM U 3 3% ol 4G SRUT @ dg ¥ §1d H o0 oM W 9 dfd T W
% 4 forms TRUmEEy oud B e | fRige o 81 399 offoRad, Het | uRadd
@ 9E U AU W @I fopt den d 0 wdd g2 §1 e Feme, dE g @ @
TR T FTCEN I §U UG TIE A9 B W WG 1t 350 @81 3
B AR AR T A e gl

You have been working as a salesperson for the past year and have consistently achieved great
sales numbers. Due to personal reasons, you have recently been unfocused at work and as a result
your work performance has declined. Additionally, due to changes in the market, the sales figures
of your team have decreased as well. Your director does not seem to be taking the changes in the
market into account and is blaming your poor performance on poor leadership on your part. What
would you do and why? Choose the best option.

(a) MU FCTE DI u Pl IR & aR H 9O U1 99 & W9 AT &
fow &mn o d@ o8 o fou o, $@ R @ gl @ A B
You explain your personal situation to the director and apologise for the decline in the
performance of your team. You ask to take a few days off to recuperate.

(b) T 3 dufdae URRUf & T ¥ Fems &1 Ful o qur oRadeia d7s1 &
WY T @ o o Ty Fewel @ we
You make a decision to put aside your personal situation and consult other sales directors
regarding their ways of coping with a volatile market. You devote yourself entirely to your
work.

() MU Mewm @i 71 # g1 3 URGdl & aR H @Td HAG! Ul e T
fowl ¥ QUR a4 & o 39 oo o9 off 61 four o 9o
You update the director on the changes in the market and explain that there is nothing
that can be done at the moment to improve sales.

(d) 3T 3 & & Gel B 0 GIE FWE U S R A5E H o w®
URGCHl & ST AU, W & A g aedl @l Fika ol

You scold your team members for their poor performance and set new, more attainable
sales targets in line with the changes in the market.

Options :

1.a

2.b

3.C

4.d

Question Number : 66 Question Id : 7715134841 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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50 @ o ¥ 40 @ fdhdl & ®U 4 &M X & & IR AR ool T 3
QM U 3 3% ol 4G SRUT @ dg ¥ §1d H o0 oM W 9 dfd T W
% 4 forms TRUmEEy oud B e | fRige o 81 399 offoRad, Het | uRadd
@ 9E U AU W @I fopt den d 0 wdd g2 §1 e Feme, dE g @ @
TR T FTCEN I §U UG TIE A9 B W WG 1t 350 @81 3
B AR AR T A e gl

You have been working as a salesperson for the past year and have consistently achieved great
sales numbers. Due to personal reasons, you have recently been unfocused at work and as a result
your work performance has declined. Additionally, due to changes in the market, the sales figures
of your team have decreased as well. Your director does not seem to be taking the changes in the
market into account and is blaming your poor performance on poor leadership on your part. What
would you do and why? Choose the best option.

(a) MU FCTE DI u Pl IR & aR H 9O U1 99 & W9 AT &
fow &mn o d@ o8 o fou o, $@ R @ gl @ A B
You explain your personal situation to the director and apologise for the decline in the
performance of your team. You ask to take a few days off to recuperate.

(b) T 3 dufdae URRUf & T ¥ Fems &1 Ful o qur oRadeia d7s1 &
WY T @ o o Ty Fewel @ we
You make a decision to put aside your personal situation and consult other sales directors
regarding their ways of coping with a volatile market. You devote yourself entirely to your
work.

() MU Mewm @i 71 # g1 3 URGdl & aR H @Td HAG! Ul e T
fowl ¥ QUR a4 & o 39 oo o9 off 61 four o 9o
You update the director on the changes in the market and explain that there is nothing
that can be done at the moment to improve sales.

(d) 3T 3 & & Gel B 0 GIE FWE U S R A5E H o w®
URGCHl & ST AU, W & A g aedl @l Fika ol

You scold your team members for their poor performance and set new, more attainable
sales targets in line with the changes in the market.

Options :

1.a

2.b

3.C

4.d

Question Number : 67 Question Id : 7715134842 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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Pride, lion @ U df 8, S shoal ... ... & fog Bl

Pride is to lion as shoal is to

(a) Teacher

(b) Student

(c) Self-respect
(d) Fish

Options:
1.a
2.b
3.C
4.d

Question Number : 67 Question Id : 7715134842 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Pride, lion @ € @l 8, S shoal . ... .. & oY B

Pride is to lion as shoal is to

(a) Teacher

(b) Student

(c) Self-respect
(d) Fish

Options :
1.a
2.b
3.C
4.d

Question Number : 68 Question Id : 7715134843 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap

Addal247

Yy fag @ B Ui ST/ Which one will replace the question mark?
21 31 39 46 16 83
52 85 2
(a) 92
(b) 72

(c) 62
(d) 99

Options :
1.a
2.b
3.c
4.d

Question Number : 68 Question Id : 7715134843 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

Yy fag @ B Uit B/ Which one will replace the question mark?
21 31 39>/46 16 83
52 85 2
(a) 92
(b) 72

(c) 62
(d) 99

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134844 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0
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DY/ Statements:

gui U_E"IEP( WA H H}Jﬁﬂ ﬁ'g %f’AII hill stations have a sun-set point
X, U® UGSl ®¥H 8/Xis a hill station

%54 / Conclusions:
(i) X ¥ T fdg §/X has a sun-set point.
(i) RIS WAl B Bl 7 el H Yulw figl T R

Places other than hill stations do not have sun-set points.

(a) oaq Ty (i) el %’x"DnIy conclusion (i) follows

(b) ®aa F%pY (i) T §/Only conclusion (i) follows

(c) (i) ar (i), Gal 8/Either (i) or (ii) follows

(d) (i) 3R (ii), & ¥&I §/Both (i) and (ii) follow

Options :
1.a
2.b
3.c
4.d

Question Number : 69 Question Id : 7715134844 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

DY/ Statements:

mi et wyH o '\T:If{ﬂ fdg ©/All hill stations have a sun-set point
X, Ud Uglsl ¥R §/Xis a hill station
B/ Conclusions:

(i) x T Jaid fdg 8/X has a sun-set point.
(i)  UETS WIA B BledR Y Wel § Yaiw fHgt 6 3
Places other than hill stations do not have sun-set points.
(a) had ey (i) el %’f’ﬂnly conclusion (i) follows
(b) <hacl MsHY (i) WS B/Only conclusion (i) follows
(e} (i) Tr (i), el %fE'lther (i) or (i) follows
(d) (i) 3R (i), &I el &/Both (i) and (ii) follow

Options :
1.a
2.b
3.C
4.d

Question Number : 70 Question Id : 7715134845 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0


https://applink.adda247.com/d/XhqWf9lSap
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g R o YR dd W 4R 9a9 3Hf¥d e

In which situation is the weight pushing down on the supporting pole is the highest?

a %

(a) TR A/Situation A
(b) URFAT B/Situation B
(c) ol aRfufaat | Ud HHIH/Equal in both situations

(d) AUl B, oHl uRfRfEl g gl /Neither A nor B

Options :
1.a
2.b
3.c
4.d

Question Number : 70 Question Id : 7715134845 Question Type : MCQ Option Shuffling : No
Correct Marks : 1 Wrong Marks : 0

g Rl o YR dd W YR 9a9 f8d grm?

In which situation is the weight pushing down on the supporting pole is the highest?

a4

(a) TRFRUM A/Situation A

(b) ORI B/Situation B

(c) ol ot § @ HHIH/Equal in both situations
(d) AUl B, E'ﬁf uitfRyfeat # :IEpffNeitherﬂ nor B

Options :
1.a
2.b
3.c
4.d
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Part Il

Question Number : 71 Question Id : 7715134846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U SR J IG BT AN fHar AR 3O 5 defddl d 1 Yl e d8dl H 1 W
foul P @ 3 Y87 § 4 39T H YT a1 SR fba g2

An institute organised a fete and 1/5 of the girls and 1/8 of the boys participated in the same.
What fraction of the total number of students took part in the fete?

(a) 2/13

(b) 13/40

(c) $21 U/ Data inadequate
(d) ﬁﬂﬁ 4 fﬁﬁ g1/ None of these

Options :
1.a
2.b
3.c
4.d

Question Number : 71 Question Id : 7715134846 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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U6 U1 4 394 @1 Ao G R 399 s defodl § 1 aul 8 d8@l § 1 9 U
feru) od Il @ 9= § ¥ 3&d H YFT oHdid @1 3T fbdr 82

An institute organised a fete and 1/5 of the girls and 1/8 of the boys participated in the same.
What fraction of the total number of students took part in the fete?

(a) 2/13

(b) 13/40

(c) 821 AU/ Data inadequate
(d) E:Iﬁ 4 aﬁﬁ Tgl/None of these

Options:
1.a
2.b
3.c
4.d

Question Number : 72 Question Id : 7715134847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
@Y/ Statements:

Ud$ HAl T BH %EIEVEW minister is a student.

PRICIC] &I_:[,'lla_sﬁ:l %vaery student is inexperienced.
B Y/ Conclusions:

(i) Udd HAl \}IE[‘J-IEI_Eﬁ? %vaew minister is inexperienced.
(ii) ] \Hﬂllfl—fﬁ:[, EIF] %fﬂcme inexperienced are students.

(a) ad 5By (i) W&l 8/ 0nly conclusion (i) follows
(b) ad FepY (i) W&l §/Only conclusion (ii) follows
(c) (i) T (i), Fal &/Either (i) or (ii) follows
(d) (i) 1 (ii), &Hl Gl &/Both (i) and (i) follow
Options :
1.a
2.b
3.C
4.d

Question Number : 72 Question Id : 7715134847 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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®Y-/Statements:
udd HAt T 8 g;”Every minister is a student.

Ud® 9F Glﬂ'lla_sﬁ:l %KEUEW student is inexperienced.
fA%HH / Conclusions:

(i) PRIGRE| \Hﬂlﬁiﬁ:{ %’;"Ever\; minister is inexperienced.
(ii) [ GIEI,‘J-IE!EF]-_-[, EIE] %fﬁome inexperienced are students.

(a) $aq Fspy {i}'\qﬁ %;"Dnly conclusion (i) follows
(b) &dd FHY (i) W&l &/Only conclusion (ii) follows
(c) (i) O1 (i), el &/Either (i) or (i) follows

(d) (i) T (i), GHFl W&l &/Both (i) and (i) follow

Options:
1.a
2.b
3.C
4.d

Question Number : 73 Question Id : 7715134848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fFafefEd faeedl # ¥ ‘EVASIVE! sa @1 faamd s gie:

Choose one of the following options that means the opposite of word; EVASIVE

(a) Free

(b) Dishonest
(c) Liberal
(d) Frank
Options :

1.a

2.b

3.c

4.d

Question Number : 73 Question Id : 7715134848 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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frafifEd faect # ¥ ‘EVASIVE' Weq &1 faamd T gRE:

Choose one of the following options that means the opposite of word; EVASIVE

(a) Free

(b) Dishonest
(c) Liberal
(d) Frank
Options:

1.a

2.b

3.C

4.d

Question Number : 74 Question Id : 7715134849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
YHIBRU 5+6:3-12x2=17 B ¥gl &1 & R by fag & dce g2
What sign should be changed to make the equation5+6+3-12 x 2 = 17, correct?
(a) + @ - 9 ufoenfug,/+ replaced by +
(b) - @ + ¥ UARIMTA/- replaced by +
() + @ x ¥ yfqitd/+ replaced by x
(d) 299 ¥ @12 o FE1/None of these

Options :
1.a
2.b
3.C
4.d

Question Number : 74 Question Id : 7715134849 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
THIBRU 5+6:3-12x2=17 B Fgl H & R b9 g & dee g2
What sign should be changed to make the equation 5+ 6+3-12x 2 =17, correct?
(a) + @ = ¥ UqIitg/+ replaced by +
(b) - @ + ¥ YR/ - replaced by +
(€) + @ x ¥ ufgrfd,/+ replaced by x
(d) E:Iﬁ P Eﬁ'ﬁ i 5[/ None of these

Options :
1.a
2.b
3.c


https://applink.adda247.com/d/XhqWf9lSap
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4.d

Question Number : 75 Question Id : 7715134850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

for # cRiu gu MR A for e o i e &2

In which direction does the gear marked A rotates?

(a) U DI YgUl @I a0 @I fe2 HiClockwise
(b) U Bl T3l @I I o1 f[aWid fe=m HiCounter-clockwise

(c) YU 81 BXa g/No rotation
(d) At =gl SR 48 B/Neither A nor B

Options:
1.a
2.b
3.c
4.d

Question Number : 75 Question Id : 7715134850 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Addal247

for # cRiu gu MR A for e o i e &2

In which direction does the gear marked A rotates?

(a) U DI YgUl @I a0 @I fe2 HiClockwise
(b) U Bl T3l @I I o1 f[wid fe=m HiCounter-clockwise

(c) YU 81 BXa g/No rotation
(d) At =gl SR 48 B/Neither A nor B

Options:
1.a
2.b
3.c
4.d

Descriptive
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Question Number : 76 Question Id : 7715134851 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

e TRV & IR e FoTell H Tad 1wt Sl o YaH #, sfawie v 16 i
TW B b U U Wa i@ @ SWAldel & Gdy d s srwist
R GBI SIef?

With reference to a nozzle design used in chemical propulsion systems of a
rocket stage, what are the broader considerations w.r.t fluid mechanics and
thermodynamics which are relevant to attaining supersonic flow and thrust?

Question Number : 76 Question Id : 7715134851 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

Riche TRUT ob I e HoMelt & gdd ioid Sifiided & GeH H, sifdsae g ud wuilg
Td B & U U0 ®a db@! td SWRloel & ddd § oud el
R T STei?

With reference to a nozzle design used in chemical propulsion systems of a
rocket stage, what are the broader considerations w.r.t fluid mechanics and
thermodynamics which are relevant to attaining supersonic flow and thrust?

Question Number : 77 Question Id : 7715134852 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

SR e H e faggd e yunferdl o fafdy Jor &I &Y D & PRBRI [Gid
1 UM B SHdRem @ fo fggd wile 701 s Suge 6?2
List different types of electrical propulsion systems used in spacecraft propulsion.

Explain working principles of each of them. Why is electrical propulsion more
suited for spacecrafts?
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Question Number : 77 Question Id : 7715134852 Question Type : SUBJECTIVE Lonsiaer As

Subjective : Yes
Correct Marks : 5

SFeRea et B g R et ot e YR ) e ) 0 iR i
1 U B SR & fory fgyd wuile aaf s Juge &2

List different types of electrical propulsion systems used in spacecraft propulsion.
Explain working principles of each of them. Why is electrical propulsion more
suited for spacecrafts?

Question Number : 78 Question Id : 7715134853 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

09 3 (V01E) & BR R dgiae HY0 390 HHR R (1R 81 i Esfenl w6 ¥ ad oR &1
U0 I 0.1 71 il Resiendl 1 &% o 9 dg 0.8 31 ot fesiodi v © & 9y W@ 3R
44 T 1. g 4¢ @1 i @ Tl 81 B0 i UR S o (U A9 G HE & UG & g
ol (G sfoul td 6 & 9y SR ) 7 &1 70 T (@ 9 U4 o & &l R A )
The aerodynamic drag on a sports car depends on its shape. The car has a drag
coefficient of 0.1 with windows and the roof closed. With windows and roof open,
it is 0.8. The car travels at 44km/hr with windows and roof closed. For the same
amount of power needed to overcome the drag find the speed of the car with
windows and roof open (Density of air and frontal area may be assumed to be
constant.)

Question Number : 78 Question Id : 7715134853 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

9 T (WEE) & PR R I SY0 396 PR R R §1 98 fEsfoul w6 w6 an R &
YU Ui 0.1 81 Gell feiedl td © & 91y 7¢ 0.8 B d fasfhdl Ud ¥ & I 16 3R
44 o5 A gl 9¢ @t 71 9 el 51 SV DI UR G b 70 HRGD GHH HE B UIaR o forg
ol (e U4 ¥ & 1Y DR 1 717 &1 Il 7 (@ T U3 30 & &l R T 1)
The aerodynamic drag on a sports car depends on its shape. The car has a drag
coefficient of 0.1 with windows and the roof closed. With windows and roof open,
it is 0.8. The car travels at 44km/hr with windows and roof closed. For the same
amount of power needed to overcome the drag find the speed of the car with
windows and roof open (Density of air and frontal area may be assumed to be
constant.)

Question Number : 79 Question Id : 7715134854 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5
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FerAOR TR T & Y 3Fd o 319 e & HR-UR R 51 91 o forw ey wefiaur
forg | arded Rufd x=0, T=T0 Ud x=L, T=TL & 4R R [V Tidh b HTHH B
Write down Laplace equation for Steady heat conduction across an infinite long
solid slab with a finite thickness as illustrated in figure. Determine the analytical
expression based on the boundary condition of x=0, T=T0 and x=L, T=TL

Question Number : 79 Question Id : 7715134854 Question Type : SUBJECTIVE Consider As
Subjective : Yes

Correct Marks : 5

FerTgR uffiifa Tiers & U1 3d dd 319 &id & HRUR RER 381 91eH o (o0 ey gHiaRu
ferd | ad et Rl x=0, T=TO wd x=L, T=TL o MR R foRcuUIeTD ieidh Bl HHH B |
Write down Laplace equation for Steady heat conduction across an infinite long
solid slab with a finite thickness as illustrated in figure. Determine the analytical
expression based on the boundary condition of x=0, T=T0 and x=L, T=TL

Question Number : 80 Question Id : 7715134855 Question Type : SUBJECTIVE Consider As
Subjective : Yes


https://applink.adda247.com/d/XhqWf9lSap

Adda

Correct Marks : 5

eI TR & Yaed GHIBRU T Tid THIER01 & oY idaR-weied Qim0 & Y &0 &l by

T |

From the constitutive equation for a Newtonian fluid and equation of motion,
deduce the general form of Navier-stokes equation

4|

7

GET IT ON
Google Play

Question Number : 80 Question Id : 7715134855 Question Type : SUBJECTIVE Consider As

Subjective : Yes
Correct Marks : 5

eI TR & Yaed GHIBRU T Tid THIER01 & oY idaR-weied Qim0 & Y &0 &l by

T |

From the constitutive equation for a Newtonian fluid and equation of motion,
deduce the general form of Navier-stokes equation
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